UNIT 5 Make % % and % turns and know % is the same as %

A full turn is when something is turned all the way round
until it is in the same position again.

A % turn is one-quarter of a full turn.
A % turn or % of a turn is one-half of a full turn.

A % turn is three-quarters of a full turn.

Get started

4 This dial turns clockwise.

- This jigsaw piece is turned
through a % turn.

What number will
the line point to
after half a turn
from zero?

Tick to show what it looks like now.
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Now try these

7 l This windmill has one orange sail. How many quarter turns are
needed to bring the orange sail back to the same position?

8 | Tick the one which shows the position after a %turn.
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